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X Had +3x=0

X497 +20x+12=0

4> — 212> — 108x + 160 = 0

X+ 147 +49x = 0

X+ 15x%% + 66x+ 80 = 0

X — 4’ —29x—24=0

6> + 79x% + 200x — 225 = 0

X —11¥ +18x =0

8> 4+ x* —247x+210=0

500 +x* = 34x+24=0
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X Had +3x=0
x=-3,-1,0

X497 +20x+12=0
x=-6,-2,—1

4> — 21x* — 108x+ 160 = 0

x:

,~4,8

1

X+ 147 +49x = 0
x=-7,-7,0

X+ 15x%% + 66x+ 80 = 0
x=-2,-5-8

X — 4’ —29x—24=0
x=-1,8-3

6> + 79x% +200x — 225 =0

x:

, 79,75

X —11¥ +18x =0
x=2.9,0

8> + x> —247x+210= 0
7
83

x:

5,—6

5S¢ +xF —34x+24=0

x:

;2,73
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